(4
y +1 850 296 23777/ Working hours : Mon - Fri  9:00 a.m - 16:00 p.m. EST

- homecustomercare@outlook.com

Item Number : F00009 - Dinning Set

CLEANING INSTRUCTIONS: CLEAN USING SOFT CLOTH PAGE 1 0OF5 MADE IN VIET NAM




( = v,
y +1 850 296 2377/ Working hours : Mon - Fri 9:00 a.m - 16:00 p.m. EST homecustomercare@outlook.com

Item Number : F00009/F00010 - DINNING TABLE

Read instruction carefully prior to assembly.

Thank you for purchasing this quality product. Check carefully for small parts which may come loose during shipment. Remove all
components from pack and place top down on soft surface such as carpet or cloth to prevent scratching the finish. Identify and count all

parts as specified below.

HARDWARE LIST PARTS LIST
No. Description Sketch  Size Q'ty No. Description Sketch Q'ty
A Allen Bolt sl 516"*65mm | §PCS 1  TABLE TOP Q 1PC
B Spring Washer O 5/16" SPCS
C  Flat Washer 5/16"*19mm 8PCS 2> TABLE LEG = APCS
D Allen Key . 4mm 1PC
E  STRAIGHT ALLEN KEY / 4mm x 4", 1PC
STEP 1
SCREW
> O
~ /E .. TABLE TOP
MDF CORNER“~._ >~ 7 ~
l SUPPORT SN

Step 1: Turn Table top upside down and put on soft surface such as carpet or cloth and then take out
MDF corner support on table top by using phillips screw driver (not included).

Cleaning instructions: Clean using soft cloth

PAGE 2 OF 5 Made in Vietnam




-
‘l +1 850 2.96 23777/ Working hours : Mon - Fri 9:00 a.m - 16:00 p.m. EST @ homecustomercare@outlook.com

Item Number : F00009/F00010 - DINNING TABLE

Read instruction carefully prior to assembly.

Thank you for purchasing this quality product. Check carefully for small parts which may come loose during shipment. Remove all
components from pack and place top down on soft surface such as carpet or cloth to prevent scratching the finish. Identify and count all
parts as specified below.

STEP 2

1 Step 2: Turn table top upside down and
put on soft surface such as carpet or cloth
and then attach leg to corner using Flat
washer (C), Spring Washer (B) and Allen
Bolt (A). Using Allen key (D) and
Tighten

STEP 3

;\

Step 3: Turn table on upright position on level
surface and tighten bolts \L

Cleaning instructions: Clean using soft cloth PAGE 3 OF 5 Made in Vietnam




-
‘l +1 850 296 23777/ Working hours : Mon - Fri  9:00 a.m - 16:00 p.m. EST

E homecustomercare(@outlook.com

Item Number : F00009 -CHAIR

Read instructions carefully prior to assembly.

Thank you for purchasing this quality product. Check carefully for small parts which may come loose during shipment.
Remove all components from pack and place top down on soft surface such as carpet or cloth to prevent scratching the finish.

Identify and count all parts as specified below.

Note: need to be set on a level surface prior to tightening all the bolts. Once all the bolts and nuts are finger tightened, set chair on

level surface to tighten bolts.

HARDWARE LIST

No. Description Sketch S1ze Q'ty
A Allen Bolt o s 5/16"*35mm 18PCS
B Allen Bolt e 5/16"75mm. 24PCS
C Lock Washer ©) 5/16" 66PCS
D Flat Washer 5/16"*19mm 66PCS
E  Hex Nut 5/16"*12mm 24PCS
F Allen Key o 4mm 1PC
(G STRAIGHT ALLEN KEY / 4mm x 4"L.  1PC
H Open wrench = > 12mm 1PC

Step 1: Attach seat frame to chair back by securing the

flat washer (D),Lock washer(C ) and Allen Bolt (A) onto

back rail.
Hand Tight only at this moment

Cleaning instructions: Clean using soft cloth

PARTS LIST

No. Description Sketch Q'ty

2 SEAT CUSHION O6PCS

1 CHAIR BACK % 6PCS

3 FRONTLEG ~—  12PCS

Step 2: Attach seat frame to chair back by securing the
flat washer (D),Lock washer(C ) and Allen Bolt (b) onto
back rail.

Hand Tight only at this moment

PAGE 4 OF 5 Made in Vietnam




-
’ \NA/
» +1 850 2.96 23777/ Working hours : Mon - Fri  9:00 a.m - 16:00 p.m. EST homecustomercare@outlook.com

Item Number : F00009 -CHAIR

STEP 3

Step 3: Attach the front leg to the corner of the seat frame, tighten the front leg with flat washer(D),Lock
washer(C) , and hex nut (E)

STEP 4

Step 4: Place Chair on flat surface and adjust legs so that chair 1s level and does not wobble, Tighten all the
bolts with Allen Key(F) provided , Do not to over tighten.

Cleaning instructions: Clean using soft cloth PAGE 5 OF 5 Made in Vietnam




	1
	2
	3
	4
	5

